Chapter 10 HKAS 38 Intangible Assets
Answer 1

(a)

The Framework defines an asset as a resource controlled by an entity as a result of past transactions or events from which future economic benefits (normally net cash inflows) are expected to flow to the entity. However assets can only be recognized (on the balance sheet) when those expected benefits are probable and can be measured reliably. The Framework recognizes that there is a close relationship between incurring expenditure and generating assets, but they do not necessarily coincide. Development expenditure, perhaps more than any other form of expenditure, is a classic example of the relationship between expenditure and creating an asset. Clearly entities commit to expenditure on both research and development in the hope that it will lead to a profitable product, process or service, but at the time that the expenditure is being incurred, entities cannot be certain (or it may not even be probable) that the project will be successful. Relating this to accounting concepts would mean that if there is doubt that a project will be successful the application of prudence would dictate that the expenditure is charged (expensed) to the income statement. At the stage where management becomes confident that the project will be successful, it meets the definition of an asset and the accruals/matching concept would mean that it should be capitalized (treated as an asset) and amortised over the period of the expected benefits. Accounting Standards (HKAS 38 Intangible Assets) interpret this as writing off all research expenditure and only capitalising development costs from the point in time where they meet strict conditions which effectively mean the expenditure meets the definition of an asset.
(b)
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Workings (All figures in $’000. Note: references to 2004, 2005 etc should be taken as for the year ended 30 September 2004 and 2005 etc.)
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ACCA Marking Scheme:
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Answer 2
(a)

Goodwill:

HKFRS 3 ‘Business Combinations’ states that goodwill is the difference between the purchase consideration and the fair value of the acquired business’s identifiable (separable) net assets. Identifiable assets and liabilities are those that are capable of being sold or settled separately, i.e. without selling the business as a whole. Purchased goodwill is carried at cost less accumulated impairment losses and it must be tested annually impairment, and written down as necessary in accordance with HKAS 36 “Impairment of Assets”. HKAS 38 specifically states that internally generated goodwill (but not necessarily other intangibles) cannot be capitalised.
Other intangibles:

Where an intangible asset other than goodwill is acquired as a separate transaction, the treatment is relatively straightforward. In accordance with HKAS 38, it should be capitalised at cost and amortised over its estimated useful economic life (similar rules apply to the lives of other intangible assets as apply to goodwill as referred to above). The fair value of the purchase consideration paid to acquire an intangible is deemed to be its cost.
Intangibles purchased as part of the acquisition of a business should be recognised separately to goodwill if they can be measured reliably. Reliable measurement does not have to be at market value, techniques such as valuations based on multiples of turnover or notional royalties are acceptable. This test is not meant to be overly restrictive and is likely to be met in valuing intangibles such as brands, publishing titles, patents etc. The amount of intangibles that may be recognised is restricted such that their recognition cannot create negative goodwill (as a balancing figure). Any intangible not capable of reliable measurement will be subsumed within goodwill.
Recognition of internally developed intangibles is much more restrictive. HKAS 38 states that internally generated brands, mastheads, publishing titles, customer lists and similar items should not be recognised as intangible assets as these items cannot be distinguished from the cost of developing the business as a whole. The Standard does require certain development costs to be capitalised if they meet detailed recognition criteria.
(b)(i)

	The purchase consideration of $35 million should be allocated as:
	$m

	Net tangible assets
	15

	Work in progress
	2

	Patent
	10

	Goodwill
	8

	
	35


The difficulty here is the potential value of the patent if the trials are successful. In effect this is a contingent asset and on an acquisition contingencies have to be valued at their fair value. There is insufficient information to make a judgment of the fair value of the contingent asset and in these circumstances it would be prudent to value the patent at $10 million. The additional $5 million is an example of where an intangible cannot be measured reliably and thus it should be subsumed within goodwill. The other issue is that although research cannot normally be treated as an asset, in this case the research is being done for another company and is in fact work in progress and should be recognised as such.
(b)(ii)

This is an example of an internally developed intangible asset and although the circumstances of its valuation are similar to the patent acquired above it cannot be recognised at Leadbrand’s valuation. Internally generated intangibles can only be recognised if they meet the definition of development costs in HKAS 38. Internally generated intangibles are permitted to be carried at a revalued amount (under the allowed alternative treatment) but only where there is an active market of homogeneous assets with prices that are available to the public. By their very nature drug patents are unique (even for similar types of drugs) therefore they cannot be part of a homogeneous population. Therefore the drug would be recorded at its development cost of $12 million.
(b)(iii)

This is an example of a ‘granted’ asset. It is neither an internally developed asset nor a purchased asset. In one sense it is recognition of the standing of the company that is part of the company’s goodwill. HKASA 38’s general requirement requires intangible assets to be initially recorded at cost and specifically mentions granted assets. HKAS 38 states that both the asset and the grant can be recognised at fair value initially (in this case they would be at the same amount). If fair values are not used for the asset it should be valued at the amount of any directly attributable expenditure (in this case this is zero). It is unclear whether HKAS 38’s general restrictive requirements on the revaluation of intangibles as referred to in (a) above (i.e. the allowed alternative treatment) are intended to cover granted assets.
(b)(iv)

There is no doubt that a skilled workforce is of great benefit to a company. In this case there is an enhancement of revenues and a reduction in costs and if resources had been spent on a tangible non-current asset that resulted in similar benefits they would be eligible for capitalisation. However the Standard specifically excludes this type of expenditure from being recognised as an intangible asset and it describes highly trained staff as ‘pseudo-assets’. The main reason is the issue of control (through custody or legal rights). Part of the definition of any asset is the ability to control it. In the case of employees (or, as in this case, training costs of employees) the company cannot claim to control them, as it is quite possible that employees may leave the company and work elsewhere.
(b)(v)

The benefits of effective advertising are often given as an example of goodwill (or an enhancement of it). If this view is accepted then such expenditures are really internally generated goodwill which cannot be recognised. In this particular case it would be reasonable to treat the unexpired element of the expenditure as a prepayment (in current assets) this would amount to 3/6 of $5 million i.e. $2·5 million. This represents the cost of the advertising that has been paid for, but not yet taken place. In the past some companies have treated anticipated continued benefits as deferred revenue expenditure, but this is no longer permitted as it does not meet the Standard’s recognition criteria for an asset.
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